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I  Continuation of X MWwnN: 1911 NRY¥YN NRMV in case of N1 07T ,N2’t BT as opposed to it and "Mp
a A7y a2t orT.is Rnon even in N n°a (vaginal canal) per v. 1
i Definition: of n¥n moa (dispute 77/9" — " — until “o»wn pa”, at which point already considered “inside”
1 xr77x defines as nw'1 mpn (of wNY)
ii  ar772 v. 1 extends pYn nra nrmo to NN, nNar and 1w nYN (from o)
1 Dissent: "™ disagrees about v nv»a — should be no “worse” than the 511 (only Xnv when it is pina)
(a) Challenge: ™ isn’t committed to nY»13 177, in X1 on v. 2, he reads D INON N’a NRMY for NVHVN (1Y)
(b) Answer: as nwnwn, it is D191 RNLY; as NVNY, only when it comes out (as for him)
(i) Challenge: the nva is already nknY as a NYHWYN
(if) Answer: she could have gone to mpn after vnwn
1. Challenge:Rran ruled that if she has wnwn, may not eat nmn for 3 days (until v is n7o1)
2. Answer: if she didn’t move at all (which would prevent 1"» nv9a) and they put her in nypn while immobile
a.  Challenge: then ®17’s ruling is only in a case where she moved around — perhaps she was V9 then?
b.  Proposal: perhaps we are concerned that some remained
c.  Rejection: that should have been X27’s formulation (177nw1 XnNWY 1WN)
d. Rather: ®27's case was also when she remained in bed (and they were %avn here that way)
i.  And: if she turned over, could be nv%s (no nmIN); if not — NNV
ii. And: ®21 was discussing v. 2 — only applies if she is immobile; if she moves, nmox for 3 days
2 Question (»ann 81023 73 SNY “): is a NV considered nR (as if her own) or Ny
(a) Split the difference: whether it interrupts 0»p3; is Xnon inside; and has no minimal Nyw
(i) Observation: if he knew the Xn»12 (above), should see it as dispute nnan/w™; if not, should reason it to be yan
(if) Answer: he knew ®n»13; understood that according to mnan it is NRM; questioning v™
1. Does he: apply the reasoning of n5»113 77 to 0”91 only,
2. Or: does he completely read it as ny» (@require 119w, not 1Mo)
3. (alternate: perhaps he hadn’t heard ®n>1 and reasoned it to be 1N per the separation at »0 10
a. (or: since pymxm par were permitted at »»v, that is a w1Tn and cannot be used as model)
(b) Answer (901 1,837,72N): she is considered nR1; v only applied nY»123 1>7 to YINad o2
ili  A727273 D9y (P10 A9YT) Nar ,nT are all YInad 0n9a Rnvn
1 Question: why mention n5v; if during mT " — n13; if during N2’ "> —nar
(a) Answer: referent is n191 who is n>210 to enter nnNY N;
(i) Per:17’s ruling — in such a case, if 7 came out on the way down — nknv; on way out of mpn — NNV
(if) Question (77p77 ”7): why Xnv on the way down — that n7 was y192?
1. Answer (”7): they treated it like 11V 91 n%21 — only ®nYn inside, for D*11 on the xnV”N
2. Challenge: incomprable — v”y n21 has no other nkmv; this has nkmv on outside
3. Defense: in this case, it already came out
a.  Challenge: if it already came out, it should be obvious that it is xnon
b. Justification: R"10 that n%20 will “cleanse” n7 still inside, might cleanse this as well - 9"np
(b) Answer (to question about r1751): it was a “bloodless birth”
(i) Question: why mention 1n13 0191 (nothing is either inside or outside)
(ii) Answer: case where 7o put its head out of the cervical canal — per X’ywir *¥'s ruling that a n75»n who puts
her hand in to move head is already nknv — in case 19 puts its head out (191) then dies
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1. Per: story about man who came to &2 to ask if it is permissible to perform nawa n%n
2. Then: ®11 checked into case and learned that 79n was heard to cry out on v"p, but then fully born on naw
a.  ~327 then ruled that it was considered born on ®”y and cannot Y1 on naw (NN XYY NYnN)
iv  Question: if ;ypn 1R considered »91 or o Inon N*a
1 Consequence of difference: if it is Rwna RNVN (M2 IRMY isn’t RNYN at all; DINDN N2 NRMV is kYN RNVN)
(a) »aw: considered »1va
(b) &27 considered mnon nna
(i) Proof: from w™’s comments in Xn>11 (above) — that N ma NRMY is D INON M2 NRMY (but 2”713 — RNV)
(if) Counter: »ar — he’s arguing that even if we were to consider it mnon n»a - still 2”nn (but it’s »1Y1)
v Question: is ny'9n nva (where MmNV <MY nH11 generates 711 NRMV) considered Y151 or D INDN N’ (same nN”pa1 as above)
1 Consequence of difference: if someone forced a n>21 n°ra down another’s throat — if 191, no Xwn nrmo
(a) 73w considered y19a
(b) Aa7. considered o non nva (DRVWN NRNMV)
(i) Proof (for »ax): xm1 - (") - we might have considered that nnna nb11 generaters nY’>an n*a NrRML
1. however: v. 3 implies that only that which has nknv when eaten; not nnna nYa) which has nxmv earlier
2. proposal: why not infer it from 1nv 91 na1 via 1v"p
a. if: v 9 nY2), which has no nrmv outside, has nrnv in the body
b.  Then: certainly nnna n5a1, which has nkmv outside, should have nyYan n»a nrmvo
3. Rejection: na (v. 3) limits ny*Yan ma nkmMY to 1NV NY nYa
4. Therefore: v. 4, which uses 28Mm and Rwnm equates the two — only 8nv for yan/xwn if it is N%2R MYV - 71D
vi  ~27 if he has a dead 7w in the folds of his skin (e.g. in the crook of his elbow) —7110; but 1521 there — Xnv
1 Reason: not considered yan (as it is D non n»a) but is considered Rwn (not »1v1)
2 And: if he has a 7V in the folds and then carries it over the airspace of a ©In ") — it is RNV
(a) Challenge: this is obvious
(b) Answer: we may have thought that only if y7w is “directly” 11 is it RnY, not "2 Pn” - 5"np
vii 572w if a ar has a stick in his elbow (e.g.) and pushes a 1100 — the fellow is still 1100
1 However: if the mnv has a stick in his folds and pushes a ar, he is Xnv (211 VLN NRMY PTN)
2 Reason:v.5 (arn vO’N) uses WP —just as hands are exposed, so vehicle of Vo’n must be exposed
b 7371 72°r only Rnon when it is outside
i Source for nanv. 6
it~ Source for 117.v.7
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